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The major'topic that I want to sperid a little time on now is

something about Y's; 1 talked about § X, ¥, and Z's somewhere along
the line in relationship to the test, in terﬁs of the formulas. I
think I have to start oﬁt this way. There is a test X, and a test
Y and a Text Z. And it is probable that there is a thepretical X,
a ¥ theoretical Y, and a theoretical Z. Now, I'll try to explain what
I mean by this, this way. As I've gone through the tests, in each one
of the primitives, I have spent some time in talking about, because
of the fault of the test, there are certain people who will have low
digit span scores who because they're high arithmetic, for example,
their high arithmetic ability causes them to do a little better on
the Digit Span. Now that's an example of what I mean by a test X.
That is, there are certain combinations that begin to occur that by
the way the test operates, you can correct that X and make it either
an E or an 1 according to the sort of the rules that have been set out
in terms of this. That is, yourcan make a definite statement that
this person is more likely an E or more likely an I because of the
relationship to the Arithmetic score and so forth. On the other hand,
it seems highly unlikely that people are divided very neatly into people
who are all E and all I. You can look at it in onerway, in the sense
that E and I and the distribution of E's and 1I's, in the populationm,
take what is in effect, a normal bell shaped curve with the most puwre

I being at one end of the curve and the pure E being at the other end

of the curve and as yxm you come into the middle, in terms of this,
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you reach a & point somewhere in between them, in which an individual

0pog s
is ambivalent Exk E-I. That is, he is neither clearly one nor éh%fgu

-

other.QPThat is/ one of the examples of what I am calling the theoretica

X. And I'll come back and talk-about each one of these a little bit
later 1n terms of what I think the meaning in terms of this is. 'But
this X in this case would indicate an individual who is neither E nor
I, neither clearly E nor I. 1 don't know any way to determine this

kind of an X per se from the test. In other words, unless you put

o it on the basis that every once in a while you will get individuals
who have neither a very low Digit, nor a very high Digit Span and his
Arithmetic is neither very high nor very low and that this might be
an indication that you're dealing with wha; 1'm calling the theoretical
X or the ambivalenﬁ E-I individual rather than resolving it in E and

éé; I. Because the other way to describe it and the way that in many ways

is more comforfable to me, is that whatever it is that is E and what-
ever it is I, an individual is not either E or I, he's both. In
othgr words, an individual is made up in such a way that he haw both

E components in his personality and I components in his personality.

And that the thing which makes an individual in the PAS 2 terms an

E or an I, 1s a matter of dominance in terms of pure E-ness or I-

ness. What is more comfortable to me is the idea that everyone has

possibilities of doing I things, everyone has the possibility of doing
At e ——
E gh things, but that there 1s a tendency in an individual for them

—

to be more dominant in one than they are in the other. What the X

- theoretical position would be in this particular way of trying to

describe what is going on, is the individual who ig in a state in



”
which both E and I are equal causing him to not be able to --—Gt?%ye

is no dominance. And again because of this there would be ceréélﬁf
kinds of descriptive things that you would have to say about this

kind of individual. Remember now I'm talking.about theoretical X.

I'm not sure that I've told you how to tell this from the test. Ido
~have a good deal of theoretical ideas in terms of X. Because one of

the things that is very important in terms of that if it is in this
first state a bell shaped curve on the basis of which a person is
neither E nor I, that is in this X position, this.places and also
whether it's true is whether we're talking about dominance, and if

both are equally dominant that the major thing that is likely to happe
to an individual when he's in this particular state is conflict; In
any'event, because i1f youstop and think aboﬁt it, the whole dyamiz
dynamics of the PAS are related to the fact that an individual is,

in order to be E he has to repress I. Therefore theee is some kind

of conflict inherent in E activity and I activity. And it is relatively

St s e a.
difficult to be Able to do both kinds of activities at the same time.

Or at least in doing k% it at the same time, one depending on how
you are, one is likely to take over and when I talk about the E
individual who 1s alert, aware and responsive to external kinds of
activities and is distracted by what's going on oﬁt there, if he has
a process on the basis of which he has to engage in an internalized
activity, that is he has to be i1deational or begin to think in terms

of that, one of the things that he must do is to work and to work in

some way on the basis of blocking out what is his tendency toward

' i in which
domina: ce in relatiomship to that. 1f you have a situation in whic



both are rglat?vely e;;al, ?hgn there is a ?it of a conflﬁa%)§?;%grms”

of that. %£ It is going to take much more effort and much more energy
0 in a sense to move either in the E.o; the I direction if there is no |

clear-cut dominance there. A pérson is clearly Edominant, is going

to have to be‘rather active in terms of working out some kind of

defense against being too E in order to be I. But there is a psycho-

logical capacity of an individual to be able to handle this kind of

a dominance much better than he would if he gets inot this conflict

state on the basgis of which both are equally powerful, in whatever is
| foréing an Individual to gm operate, Therefore the X position carries
with it more strain and much more stress to an individual than there
is when an iﬁdividual is clearly either E or I/ That would be kkexm
theoretical positioﬁ that I would take. This represents a conflict
area, an anxiety area, because the indlvidual can never really be
_successfully oﬁe or the other. Now, the same thing if you think in
terms of R and F. R and F in relationshpp to this, there's going to
be a position in the middle in which a characteristic of an R in-
dividual is a tendency to be bewildered, a characteristic of an F
individual is to have a‘tendency to be confused. You move close
together and you have no R or F dominance in terms of this, you have
a Y position which would kek be the position and the term in which
there is no dominance in connection with this would also be a highly
conflicting type of an adjustment because the person would be a little
bit bewildered and a little bit confused in what is a way that would

( be somewhat difficult for the individual to be able to operate some-

X . . c
times, rather effectively; the same thing with the Picture Arrangemen
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or the A-U dimension in terms of this. The Z position which i6(¥gat
T call it in terms of the A and U, when it comes in this place thré
( a person is neitﬁer clearly A nor clearly U, that ambivalent position
begins to put in terms of that, a series of eéperiences that the in-
dividual is going to have which is going to cause him to be much more
conflicted‘or much more confused, in connection with this. So, in an -

extreme sense, if you had an individual who was really X, ¥, Z in

a theoretical sense, this would likely be a very confused, conflicted

individual who has a great deal of difficulty making any pa¥ticular
kind of an adjustment. It's probably unlikely that they zzigz, this
pure X, ¥ Z, I don't know. There may be. But it's much more likely
that there will be differences along the line, that is, an individual
might be ERZ, or he might be XRA. 1In one of the three variables that
é;; are used, the individual is in the ambivalent state., Now, theoreti-

cally or in terms of trying to describe this kind of an individual
dynamically, it is my contention that an individualAwhen he is in
this particular state, that is,'if you have an individual who is X
and who is R and A, the ambivalence and the conflict in the X area, the
way in which the individual is going to resolve whatever his conflict

R is in relationship to this,. 1s more likely to show up in the way in
which he is R and the way in which he is A, rather than a resolving
of the X state itself. The fundamental point that I am trying to

make is that the X, Y, Z positions if they mixm exist, that they

represent a dynamic adjustment that is very difficult to explain and

(. also likely to be highly significant in interpreting a person's PAS



proflle. We don't really plck this up very well with the te&gO\)U A
Ed: Wheﬁ you're interpreting the results of a test profile and in one
of the dimensﬁons you have an X, Y_or Z, say, you have an X, would
that be the focal point then for your interpretation of the rest of
the formula, or would jou use that more or less as a pivot for the
rest of the interpretation?‘

John: Yes, Yes, -Itrbegins to be a pivotal point in the sense, now
what are the things that are likely? Let's talk a minute about X.

Now what are the things that are likely to happen In texms of‘an X
individual? What is likely to happen 1is that he is in somewhat of

a conflict state because he is unable to really be as aware as he
feels that he should be, nor as unaware as he feels that he should

be, There's a confusion state in terms of this. Therefore the fact
that that individual is X, means that that kind of an individual who
is X is going to be much more dependent on some kind of external
direction in terms of maintaining their adjustﬁent. So you've got

in an X individual a different kind of dependence, than you have in
an individual who is Eu or an individual who is Iu. The Eu individual
is dependent because he needs to be appreciated, loved, related to.
The Iu is dependent because they need to be taken care of, supported
and given succor. The dependence of the X individual is in a sense
that because he neither gets any particular kind of dependence satis-
faction in either direction, you are likely to get the ambivalent
swing in an X individual on the basis of part of the time he's going
to need to be loved and appreciated and part of the time he's going

to need gexheximgrdx a great deal of succor and support, but all of

the time is he going to need some kind of strong support. Now I
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'said a while ago that there probably doesn't exist the X, Y Z person.

I'm going to withdraw that a little bit.. It strikes me that tﬁé}géﬁi}
featation in an individual, the pathological manifestation of the XYZ
state is very clearly indicated by the so-calied rakarr catatonic
state. Because what it representsx@r in terms of the catatonic state,
the individual is in effect frozen. A person becoming catafonic
absolutely freezes because they move in a direction in which they
cannot go in any direction. They can't withdraw completely in a
schizophrenic sense. They can't over relate in a manic sense, there=~
fore, they do nothimg . That to me is the example of thé XYZ state

in the extreme. Therefore when you go back to this business of the
plvotal bit, the presence of that X, and you know or are relatively
certain that an individual is an X rather than an E or an I, you know
Bk that the thing in terms of that particular individual's problem

or life problem in relationship to this is that he needs a considerable
amount of support in one way or another because he cannot react.

I think it is probably a state that doesn't exist all that often.

But the major thing in terms of this that if you think about E-I,

R-F as being co-existant in an individual and one being dominant in
each individual, the one thing that you can see dynamically, it seems
to me is that as one of them becomes more dominant than the other,

the individual is likely to be under less conflict. There is less
conflict because if he is very dominant E he can be E in a relatively

dominant kind of a way. Now he might have to compensate for being

too much E by moving back in the I direction, but it's not a conflict
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state. As you_m0ve this coexistant E-I, as you move it closeroi?%’
closer together, the strength or the necéssity or whatevey it iéﬂ 1
going to take muchrmoré tension fo¥ an individual who is only moderately
dominant E to control that E because.;.
Sadie: That would be an Xu when they are closer together?
iohn: Yes.
Sadie: So you put the compensations in'your E, T mean u and c.
John: Yes. You would get the compensations anywhere along the line
in terms of this, for example, an Xc individual in terms of what I'm
talking about is likely to be a much more tenmse individual than is
an Ec individual. Although an Ec individual is tense, an Xc is
going to be much tenser,. |
Ed: I was going to ask if you couldn't resolve some of the XYZ thing
by the strength of the Activity Level.
John: Yes, One of the ways you can resolve Xé in relationship to
this, and one of the thiﬁgs that you'll note is that Xc is an individual
who is making this theoretical Xc position, has he compensated by
becoming E or has he compensated by becoming 1? Because the fact that
ﬁe is X there's a possibility that he can go either way. The Xc
only means that the individual is working to control'something; but
unlike when you've got the Ec, you know the individual is‘controlling
E. If he's Ic, you know he is an individual controlling I. Xc,
you don't know whether he's controlling by being E or controlling by

being I. The activity level might be one of the ways to resolve this



in the sense that theh§c individual with a high Higit Symbol or a

high Activity Level in terms of this it is probabiy én indicgélgg7§3
( that.the individual is more I xan th;n he is E. If you have alow

activity level or a low Digit Sﬁmboi in relationship to this, the

individual is more likely E than he is 1. Now also because it is

existing so close tbgether,_the tension in terms of this,.. if I

am strongly E and stronger I and I make an E adjustment, because of

the strength of the I that I have in terms of that and the'thing that

is so tlose in terms to it, it is going to take a lot more intense
 energy, it is going to take me much more tension to produce that E
adjustment, because the I %% is so close to the surface. The real
Ic who moves 1n terms of this in a sense has much more of a capacity
éomewhere along the line to be able to'conﬁrol their tendency to be

f-ef' I. There is less ability to control it when it's close together. T

|

keep saying that over and over., ‘The point 1s that it is certainly
a dynamic law in terms of this, that if you have two equal forces
in terms of this, you get immobility if they're identical two equal
forces and you can wmove into a direction on the baslis of which you
can get compensations.
Olga: 1 don't understand why you talk about a normal distribution.
I can understand having two opposing lines or forces and being in the
middle between them. It is certainly not normally distributed in the
population is it? Because these would be at the extreme and there
would be very few of them, instead of having a majority, which you

( ~ would get in a normal distribution, would be sitting at X. Right?

I'm saying that in these particular individuals that are X, that

there is a normal distribution of E and T tendencies.



John: This may be trdz. If this is true, it may be much moge Eormal
for an individual to be neifher éiéarly E nor I. That may bé(iﬁ;?é%y
( people are distributed in which case1we need to explain or think a
little bit more about not whether a person 1s an E or I, but what is
the characteristic of the E-I if it's a normal distributionm.
Olga: Yes, but if you start with a case, then what you really get
would bé, I.guess, two completely bimodal, with here in the middle just
a very few people that were X, and then the two on each side. And
the other thing that worries me a little, that I have trouble undexr-
standing, is that I would think that a child who's started out I+ and
a child who started out E+ would both receive more pressure from the
environment to move in the opposite direction than would b kid who is
sitting on the fence.
Q_% John: Exactly,.

Olga. He would be subjected to more stresses from the environment to
change.
John: Well, that's the key to what I'm télking about, in relationship
to this. And that's why for example when an E individdal who is clearly
E and Ef is much more likely to Ee put under pressure to change.

B An T+ individual because he's_so obviously I is going to be put under
pressure to change. Maybe most people really are in the middle range,
on the basis of which they are not clearly E or T if you see what I

mean in terms of this. And they're not put under the same kind. of a



7pressure .kn They haveﬁ 't got a lot of what I am talklng ﬁ%jgp as_
occurrlng in the extremes, does not really occur as much in this
middle group. That is, maybe amblvalence, maybe the majority of
people are comfortably both E and I without having to meet any parti-
cular pressure ome way or the other.
Dr. H. Would you say that in that X Y Z position you wili find a
more unpredictable type of other Bhroup. Because it might be in one
situation I, in aﬁother situation, E,. |
John: Yes. This is the major thing, that their unpredictability
anywhere along the line, mainly because to a certain extent they
really can be either. And theoretically, if you have an individual
who is Xu, what I would say is that an Xu individual has a capacity
to be both E and I. And an individual who is Xc has made some kind
of an adjustment oxr movemeﬁt on the diréction of which he has been
making moves into an E direction, it also could be in an I directiom.
And, as a matter of fact, he actually could make a relatively satis-
factory Ic adjustment or a relatively satisfactory Ec adjustment, eitherx
w ay because he's close enough in terms of this. And rather than it
relatlvely
being a conflict state, it might be a xmixdwmiy healthy kind of
state on the basis of which you don't get the bizarre kinds of things
that happens to the E individual who étrongly if he éan tries to be
I, and becomes a delusional I. It would be very hard Egrexample
for an X individual to become delusional. But certainly there would
be a considerable amount of unpredictability in terms of finding out
something about him.
Olga: Wouldn't it be likely to happen to him early on so 1if he

were raised in a family where there were very, very strong pressures



to be I now it would be relatlvely easy for him to come over End
make this kind of adjustment; won't it be the same,-that the op;1;&2é)
[ would be true, And it seems to me, he'd end up probably a lot less
likely to be In deep water than an E+ who is Born into this kind of
family, where you have a strong pressure.
—
John: Exactly,
Ed: But %x isn't the key word there, that there is some kind of
support for the X individual in that case that you mentioned as opposed
to a case where he wasn't getting support one way or xhexxm the other.
Then he would be in more trouble,
John: Well, I would say in a sense that the one who is in the most
trouble of all in relationship to this i1s someone who is XA, because
the XA individual is likely to be so much beholden to the direction
Eff of the environment, that literally the XA individual can be all
things to all péople, without ever having to make-any particular kind
of an adjustment. They really would be willy-nilly. And it's very
possible that some kinds of psychopathlc states might come out as XA,
because a rzk characteristic of a psychopathic state is Iin a sense,
the individual's total inability to feel guidt. Feeling guilt in a
sense in terms of this, an individual in order to be productive in
any way in the PAS terms, aﬁ individual to be productive is going to
have to feel some kind of guilt. That is, 1f I'm too much E and be-
cause there are I tasks that I have to perform, I have to feel guilty
about being too E, and try to do something about being too E, in order
to develop the I skills that are necessary for me to have to mix exist

in the world. Because this is what maturation, that is what adaptationm.
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is. Adaptation, the process of growing up, is the process of an
individual beginning to learn to use these balances that the é;QEi?zﬁ
3 talks about as E-I, R-F, U-A, and to use them effectively and effi-
clently. And part of the way that you do it,fypu've got to recognize
in a way, I am too R, - I ddn't know that I mean that one recognizes 1t
as a child in terms of this, but the experience in terms of this, the
things that happen to him because he 1s R, he has to make and recognize

some kind of an adaptation. He has to feel a certain amount of guilt

and a certain amount of shame because he 1s one way. Therefore he
tries to be another way. WNow 1f you're in an ambivalent state in
terms of this, you are likely to‘end up being guilty eilther way. I
mean you don't know what you are supposed to do, in a sense. That's
the-conflict, the ambivaléﬁce, thete's another word -- complacent. T
(— would say, for gxample, a characteristic of any of an XYZ there is
likely to be some kind of complacency present, either complacency,
confusion, conflict, all of these things can happen.
Olga: One of the things to do if you have an X child or a child that
doesn't manifest strong tendencies one way or the other is to really

structure his role so that he's pushed in one direction and there's

no two ways about it.

John: That's right. That's again why an XYZ or any combination of
XYZ in terms of this, the individual having any of these particular
positions, if he's going to make any particularly satisfactory adjust-
ment has to be under some kind of contrived, direct instruction.

\ Because the need for making a person's own decision is not there.

Therefore, an XYZ kind of an individual growing up in a highly structured
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environment may be the best product of that highly structured society.
And that in any particular society ﬁhat 'calls for a large t?mQﬂ:‘:’)eZ %fr
people to make an adjustment whicﬁ is imposed upon them very definitely
by the society which they live in, it is much more likely to bep an
XYZ who is going to be the most productive member of that society.
Olga: 1In a primitive, permissive society he's lost. He'll never
make it anyway.
John: Yes.
- Dr. H: So would you say most Chinese on mainland China are XYZ?
John: Yes. Very definitely and that they're XYZ which essentially
has an IR cast to it. The major Chinese cultural role is an IR role.
The IR's in the society are likely to be able to do a pretty good job
in terms of learning that role, the EF's in that society are going to
have the hardest time making the adjustment. The XY's are likely to
be what in a sense is the cadre, the major kind, they would talk about
this in terms of indiffer;ence, even in pre-@ommunist days if you talk
about a coolie population. The balance of the coolies were probably
XY's and were characterized by what many people, I mean if you were
a strong IR you wouldn't be a coolie, 1f you were a strong/?gu couldn't
be a coolie, and essentially the indifférence that is characteristic
of the coolie is part of this XY dependence. This begins to give a
little bit of substance to the idea that may be it is a normal curve
distribution in terms of E-I kind of thing. Because the balance of

people may be the kind that are neither IR enéugh to be IR, or EF

enough to be EF, they are I-E, R-F's, or X¥!s. In terms of whatever



it takes for an individual to break out in any particular kind of a
L . S - : ] 'Q(L“
standardized society, probably takes something different tha Hes 8
conformity, because conformity would be the primary characteristic of
the XY type of thing, because placed in any klﬁd of situation that's

not structured, being too permissive, they go to pieces. The slave

‘population in the South was_probably largely XY also.

Olga: The trouble is you didn't have to take an aptitude test to
decide whether you're going to be a slave or a coolie. I mean there
you are,

John: The only thing in either one of these types of things whether

a slave or a coolie, and I don't know any other way to say this than
in a brutal way in terms of it, is survival of the fittest. An EF

in a Chingse society, or an EF in a potential slave society, are the
casualties of that system. They don't survive. And therefore in a
sense just in the process of the combination of breeding and oppor-
tunity ... I've always felt very strongly that for example in an IR
culture, like the Chinese culture, that the people who have the most
problem adjusting to that culture are the EF's. In an ER culture, like
the U.S., the people who have the primary problem in making an adjust-
ment to that culture are the IF's. The EF in the IR culture, and
again a characteristic of an IR culture is that for the purposes of
the cultural description, it's formalized, it's structurized, it's
defined, it depends a great deal upon peoplé learning patterns and

they have to learn patterns., It is also particularly in the Chinese

culture, or the Chinese type of IR culture, body contact is tradi-
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tionally something that 1s very much frowned upon. For examprO;;qu
an IR Chinese past culture, I assume that it hasn't changed this much,
in the past a Chinese child would never think of running and throwing
his arms around Daddy, because you didn't tou;h Daddy. Isn't thét
true, Dr. Ho? |
Dr. Ho: fou don't even approach him,
John: You don't even approach him or have the idea of touching him,
Now you think in the ER American society, any Daddy who comes home at
night and his little boy or girl doesn't come running up and throw
his arms around to welcome Daddy home, Daddy feels rejected. 1In the
ER, you teach an IR child in aw ER society, you teach him to throw
Chinese
his arms around Daddy. You don't have to teach the IR/child not to
touch Daddy, but you do have to teach the EF child not to touch Daddy.
The same thing in terms of movement and of survival of the fittest,
In any society and particularly in Chinese society or for Southeast
Asian society in general has this characteristic, at least in terms
of the peasant, the period of time, because of the fact that the
mother has to work, and you put the baby on your back and you keep
that baby bound on your back and certainly in some cultures in tefms
of this, this can last as long as 9 or 10 months before that child is
allowed to get off of his back. Now you think of I and E in relation-
ship to this, an I child is under relatively little threat in relation-
ship to thils, Whatever their body movement in terms of this, can be

internalized in such a way that it is not a particularly stressful
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ekperienqef_ Fo;_Fhe behaviorally rgspongive_E child to be Pl&iféé%?}-
terms of this particular kind of bondage is likely to result in, one
kind of child under this could be veéy frustrated and another one could
be not frustrated at all. In the American society in relationship

to this, any mother who has a feeling that their child at 10 months

is not showing enough activity, gets all kinds of help. They say "What's
wrong-with my ehild?" 1In the American society, the business of being
active begins to be an extremely important thing and to a certain
extent there may be many an E child who during the early 10 months of
his life has relatively little frustration because he's encouraged

to be active. An T child will have a considerable amount of
frustrétion because it also is encouraged to be active,

ﬁr¥ Ho: Touching your father, this is a difference in values. You
touch your parents or your father to show love. We don't get close

to the father fo show respect. You don't respect anyone that touches
you. You stay at a distance, pay homage and look at him,

John: And the same thing in terms of the Western cultural idea is

the first thing that you do when you meet someone is to put yourhand
out, on the basis of which you make some kind of contact., Culturally,
this business of sticking your hand out can be very offensive to an
IR cultural oriented individual. The Japanese when they meet, they
bow and in a sense, they keep their distance. And you never see a
Japanese really shaking hands with other Japanese. And to a certain
extent if you ever see a Japanese who shakes hands, kham then from an
American standpoint i1t is likely to be relatively ludicrous because
once that he has learned to do this which is against whatever else

that he does, it begins to be a very peculiar activity. He is forcing
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himself to do somebhing and in the same way that I as a non-Japanese,
| 00684,
if I start trying to learn to bow to people, it mg begins to Bé&“Wery
ludicrous also, because I am ha#ing a great deal of difficulty in
keeping away from what 1s my normal way of making contact, that is,
you shake hands.

Dr. Ho: There's a funny idea in the China countryside that if two

key=x boys start holding hands or shaking hands, people interpret it

“7" as a homosexual tendency.

Olga: Boys hold hands here and they get the same reaction.

John: Yet, you can go to the Philippine Islands, which is an F

culturé rather than an R culture. And you walk into what is essentially
their Pentagon, with their officers in uniform and all the young officers
will be wandering around the halls in the Pentagon, holding hands.
Because holding hands is in a sanse in terms of that particﬁlar cul-
tural setting, and holding hands the way we hold hands when we are

was walking with our girl or our boyfriend, this is much more a sense

of friendship. Philippines would drive yéu crazy, if you watched

them in terms of this. The same thing in terms of the Russian. The
Russian who moves very much in terms of body contact, this is an E
society, and a body contact on the basls of which it still is more
common, it's not as common as it once way, it 1s still more common

than not, that Russian H=rm men when they meet kiss on the lips. WNot

the French brushing, going through the ritualized business of touching
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cheeks which ggain is a different manifestation of this business of,f
touching, but the Soviet is still in terms of the men tradition;g£§gzgg
when they meet, they don't just shake hands, they kiss on the 1ips.
This 1s a-very hard thing in American society; still in terms of

this isltbe idea of men kissing.-- women can kiss each other.

Walter: But isn't that an ER culture, too?

John: Yes,

Walter: Like ours?

Johﬁ: Yes.

Walter: How do you account for it? In fact, you haven't been able
to reconcile the ERUness of the Communist Soviet ﬁew man and the
brboding, sentimental Tolstoyian-Dostoevskian overly warm, overly
invélving Russian of the old Tsarist days. It almost seems that
today's Russia is almogt an overlay on something that is really very
F-ish.

Olga: Maybe those have always existed side by side in the Russian
nature, these two types., Because if you look into your Tolstoy or
your Dostoevski you find very clearly that both kinds of people are
always there and always described and always just played off agaiﬁst
each other in the story, like the Brothers Karamazov, in the same
family you have both of them.

John: This is very hérd for me to explain in terms of some of the

other things that are there. In cultural terms I call the Soviet
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79?1ture ERU. I call thelAme?lcan culture ERA. Ilcall the JaH?TFﬁ%gg.
culture IRA. I call the Chinese culture IRU. What are the things tha
are making a difference between whetﬁer youf're calling it A or U?
A U characteristic, or one of the things in terms of what an E and
U begin to put in terms of this, that there is a tendency for role
uniformity to begin to occur based upon whatever the basic cultural

needs are in relationship to it. Now a characteristic of a U individual

is in a sense a U is xenophobic, that is, whatever the way that they
I do something is the only way to do it and that if you exist in that
soclety, if you're going to exist successfully you learn to be what-
ever it is that the society calls upon you to be, causing you to be,
xenophdbic. Now the thing in terms of this, one is the pattern in
the Russian set in terms of this, open out; moving into the direction
of kissing, touching, feeling, shouting, singing, making close ties
and relationships among their group and again you have the characteris-
tic of the Soviet installation overseas. The Soviet installation over-
gseas 1s characterized by the fact they bring their culture with them
in even a different way than the Americans bring their culture with
them. They're very self-contained.and very dependent upon being able
............... to maintain themselves exactly the way that they're used to being
maintained. They don't go out of their way, for example, to try to
get other people to join in with their, I'll use the word drunken
brawls, or the other things that theydo in their installations overseas
that are part of their ERU-ish world. The same thing in terms of the
Chinese installations overseas, and it's not just a characteristic
of the Communist influence per se. It's certainly been exaggerated

by the Communist influence, but traditiomally a Chinese embassy or a



Chinese mumikmxe installation overseas or a Chinese moving 1nto any
”other environment whether you're talklng about the dandy dancergiiulldlng
the railroad in the West, in everylinstance they bring in a sense

their role uniformity with them. A characteristic of the difference
between a Chinese and a Japanese in terms of the A and U; is that

there can mix exist this A quality in tﬁe Japanese culture on the

basis of which it can have all the appearance of a Western community
and co-existing with it is the traditional debt in terms of this, on
R the basis of which the Chinese will wear his business sult to his
office and look like any Western businessman and the minute that he
walks into his house, he takes his suit off and puts on his robe and
begins to move in an entirely different kind of a way. In the Ameri-
can society there is much more of a capacity in the A sense for a lot
of various kinds of things to happen, being outgoing, being regulated,
and being affable., TIt's an affability and affability means in a

sense that you go out of.your way to get other people to join In with
you. Now the difference between the Soviet and the Aﬁerican is that
the Soviet is inclined to be much more insular, while the American

is inclined to be much more involving. WNow that's the U and the A
difference. The Japanese is much more likely, it's only in very recent
times and over a period of tiﬁe that there begin to be Japanese restau-
rants outside of Japan. I never knew a Chinese community that developec
anywhere that one of the first things that didn't come into it was a

" Chinese restaurant. Therefore the A characteristic of the Japanese is
that they move in and they can adapt in a different wey than can the

TRU. 1I'm not saying one is better than the other.
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Olga: Becky was telling us that one mf of the_mmxnx,men_that,is
interested in her unmarried sister is a Northern Chinesegigéégfi he
just might as well not be €hinese at all, because the whole cultural
pattern is so different. Well, what are thefNorthern Chinese 1like?
They're completely different from us because they're cold and they're
uascrupled and the whole IRU thing. And the Southern Chinese, it's
true 1f you ever go to Stanley Lee's laundry on Wisconsin Avenue or
any similar place, and there's something going on all the time;
people are talking all the time, kids are running around, people
yelling at each other, very emotional, very volatile, but the Northern
Chinése are supposed to be completely different, cold, austere, in-
scrutable, _ ‘

John; I've had a great deal of trouble in the past, in that after
I've talked about I-ness and E-ness and then say that the Chinese
culture is I, a lot of Chinese will get very angry and say, you don't
understand the Chinese culture at all. It certainly is an E, the way
you're describing E. Well, it is E in a way, but it is the way I'm
describing Ic. I maintain that the Chinese culture is a gregarious
culture, not an involving culture. Now there is a lot of difference
in being gregarious, it includes the fatt that when you've got so
many people living together you've got to work out some kind of an
adaptation. As a matter of fact, I think it would be very difficult,
withthe number and the way in any particular group that has to live

close together and be productive, for them to be really an E culture,

in the real meaning of E. They've got to make an adaptation whigh

makes them active, gregarious, responsible, people. But neithe7éust
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théy be too involved in-whét ié goingrbn. The E child, growHTﬁ up and
to me this is true in any culture, the E child who is easily dlstracted
having to sleep in the room‘with five other people is going to grow
up with more pressure becauég he had to éleep in a room with five
other people, than is an I individual growing up in the same kind_oﬁ
environment, because it is not likely to represent the same kind of
distraction or there's not the same kind of adjustment one has to
make. An E child growing up as an only child may have many more diffi-
culties than an I child growing up as an only chil&.
Walter: 1 think when you have crowding:
1) each person gets less space.

- 2) and I think you need more formai relationships, énd things
have to be spelled out and limits set. And I think this is a function
of density of population, |

John: A difference between the Russian and the Chinese, they never

exist in a mass....(end of tape)




